EARAZROREIERT — 2 N— XBISY —F 20205E7H26H (H) 9@E£R1H

Il <C T <EEHREE C14 ¥5%—#% ‘ X&) 2 ‘ [Emml  — | & (&) 14000 2
[x&4£] 1% :270,000™ ~ 23#%&:7500M”  3#%&:37,000M  43%&:27,00MH . 573%&:21,000H
& %B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
- - FEREKHA :30. -1-1- . — EERE (£R)
11505 Hol oy k 4 5 Frg 1(3_0)9 1-1-1-1 | 39.1 2 (413) :éEE#é—
R:27)—>ke—0O— B:NLTa—-L>b HEAKS
S ST f 4 | Bt 1:31.6 2-2-2-2 [39.5| — 1 475 | BAEET (£R)
ol7l7|815ETY 54.0 @ o) | B IANTEF—#5TLy KR
L:O—KA+A7 BNy a>ly R EHE
. MHHIES] : —4-5- — HNEEFIR (£IR)
311|811~ —> LI e 1(73::53 5-4-5-3 | 37.8 4 <4+751) Gl
Z:yA7x Bz 7147 BB
A7 g o4 | RETR 1:32.8 7-7-7-5 | 38.4| — 5 452 | ERRRE (£R)
N > BIESZZ=EE 2540 ® Gy | ) prSaY
L:¥xLTANZN B:JLARFRT IS
< - N :33. —5—4— . — SARED (£IR)
5 g F—In—F1> 4 6 Aze 1 (333)4 5-5-4-5 | 39.7 6 zzg frre
L:2=/FXLLy b BTN TTT— mll4iE
SERTEATE B 7 | EEEAR 1:33.4 4-6-6-7 |39.3| — 3 523 | HOEEANE (£R)
] 4 PR 54.0 (7E) 14y | W Tr—2pETa>
LY IRGTA TSR BT N — KA
&S . 2 o _ #AFHE = (&R)
Belzyr7-= i 5 SR 1.(32?3.8 3-3-3-4 | 40.7 8 ;1_320) e
R:27)—re—A— B:3INVU12vT MAHEEE
R o6 | EREA 1:34.1 8-8-8-8 |39.5| — 7 486 | DNEEFIZE (£IR)
sl 3| N7YY T 56.0 (1 1/2) (6) | FBET '
R:707% B:eYT7z7LTq FEE S
@ 1—F—@&BIEf
13=zr= 5,7,6,4,(1,8),2,3
2ol=7F= 5,7,6,1,8,4,2,3
Jo=3r= 5,7,6,8,1,4,2,3
43—F— 5,7,1,6,(2,8),4,3
[ RN
B OB 5 400M 714K 5-7 170H B = 5-7 310 3ER 1-5-7 840M
7 B 5 110 1-5 540M | | & & 5-7 920/ | | SEE 5-7-1 7,260
7 1004 1-7 250M
1 160M9

ARICOVWTRDTEEERROODE. TR LI,



